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101 Problems in Calculating Derivatives Using the Chain Rule with Solutions

In(4x)
arctan(3x)

f&) =

f(x) = sin °(x?)

1

f(x) =T

f(x) =vx2+3
f(x) = tan(arcsin(x))

fO) = (% +2)z
f(x) =1In(e*)
f(x) = In(arcsin(x))

f(x) =e*’

f(x) =In *(3x°)

f(x) =In *(5x)

53.

56.

99.

62.

65.

68.

71.

74.

77.

80.

83.

(Part 16)

f(x) = (In(2x) + In(x))*
f(x) =In(2x)

flx) =e*

f(x) = cos *(x)

f(x) = In(In(x))
f(x) = - 3
(x5+x2)7
f(x) = arctan *(cos(In(5x)))

f(x) = tan(e®)

f(x) = sin(2x) cos(3x)

f(x) = tan(x®)

f(x) = tan 4(ln(esm(3x)))

57.

60.

63.

69.

~

75.

81.

(e}

2.

4.

fG) = (VE+ V)

f(x) = arctan(arcsin(x))
f(x) — etan(ln(3x))

—4

f(x) = (x% + x%)

. f(x) = cos Gx)

f(X) =e arctan(x)

f(x) = (x3+ x2+2)5

f(x)= (x§ + x%)3
@) =——
(x*+x)6
f@) = ———
)
f) = (2 +2)7°



85

88

91

94

97

) =03+ a2+ 1) 86. f(x) = e"®

. f(x) = In(In(2x)) 89. f(x) = arcsin 3(x)

Cf) =G+ 1D3G+xD)t 92, f(x) = m

. f(x) = tan *(x%) 95. f(x) = ﬁ

Cf) =Yt a2+ 4 98. f(x) = (x? +3)*(x% + 2):

87

90

93

96

9

[(e]

. f(x) = arcsin(tan(x))
. f(x) =1n 2(x)
. f(x) = sin(x?)

. f(x) = arccos(e*)

4

Cf(x) = <%F+ i[a?)

100. f(x) = arctan *(x) 101. f(x) = e'nGsin(x)

“Only he who never plays, never loses.”
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